
Forgatási transzformáció

O

P=(x,y)

P’=(x’,y’)

P”=(x”,y”)

α

δγ

Legyen L =
√

x2 + y2 =
√

x′2 + y′2 =
√

x′′2 + y′′2 = ‖
−−→
OP‖ = ‖

−−→
OP ′‖ =

‖
−−→
OP ′′‖ .

x2 + y2 = x′2 + y′2

= (L · cos(α + γ))
2

+ (L · sin(α + γ))
2

= (L · (cos(α) cos(γ) − sin(α) sin(γ)))
2

+ (L · (cos(α) sin(γ) + sin(α) cos(γ)))
2

= (L · cos(α)
︸ ︷︷ ︸

x

cos(γ) − L · sin(α)
︸ ︷︷ ︸

y

sin(γ))2 + (L · cos(α)
︸ ︷︷ ︸

x

sin(γ) + L · sin(α)
︸ ︷︷ ︸

x

cos(γ))2

= (x · cos(γ) − y · sin(γ))
2

+ (x · sin(γ) + y · cos(γ))
2

= (x · cos(γ) − y · sin(γ))
2

︸ ︷︷ ︸

x′2

+(x · sin(γ) + y · cos(γ))
2

︸ ︷︷ ︸

y′2

x′ = L · cos(α + γ) = L · cos(α)
︸ ︷︷ ︸

x

cos(γ) − L · sin(α)
︸ ︷︷ ︸

y

sin(γ) = x · cos(γ) − y · sin(γ)

y′ = L · sin(α + γ) = L · cos(α)
︸ ︷︷ ︸

x

sin(γ) + L · sin(α)
︸ ︷︷ ︸

y

cos(γ) = x · sin(γ) + y · cos(γ)

x′′ = L · cos(α − δ) = L · cos(α)
︸ ︷︷ ︸

x

cos(−δ) − L · sin(α)
︸ ︷︷ ︸

y

sin(−δ) = x · cos(−δ) − y · sin(−δ)

y′′ = L · sin(α − δ) = L · cos(α)
︸ ︷︷ ︸

x

sin(−δ) + L · sin(α)
︸ ︷︷ ︸

y

cos(−δ) = x · sin(−δ) + y · cos(−δ)

1


